
Respuestas a las actividades de revisión: 

1) a) 1; 2; 3; 4  b) -4; -3; -2; -1; 0; 1; 2; 3; 4 c) 4 d) Ninguno e) -1 y 1 

2)   

Número 

n 

Siguiente 

n+1 

Anterior 

n-1 

Opuesto 

-n 

Valor absoluto 

|n| 

12 13 11 -12 12 

-1 0 -2 1 1 

-5 -4 -6 5 5 

-26 -25 -27 26 26 

 

3) a) 7  b) -20  c) 35  d) -30  e) -7  f) 60   

g) -7h) 25  i) -10  j) -1  k) -6  l) 3 

 

4) a) -4  b) -5  c) 0  d) -8 

 

5) a) Verdadero  b) Verdadero  c) Falso  d) Falso 

 

6) a) -512  b) -1 c) No tiene solución d) 8 e)216  f) 1 (no se aplica propiedad) 

 

7) a) 6  b) 14  c) 28  d) -3  e) 10   


